Name: __________________________

Practice  Final – Fall 2008

Math 11a

Instructions:  On this portion of the final you may not use a calculator.  You should not take over 1 hour to complete this portion of the final.  If you find yourself taking longer, I suggest that you hand it in and collect the second portion.  When you are finished with this part, hand it in and collect the second portion.   Please box your final answers.  An asterisk (*) means new material.  Good Luck!

1.
Solve each of the following.  It's correct or it's not so you don't have to show all steps as usual.

a)
15  (  25


b)
-15  (  2

c)
9  (  (-7)

d)
-15  (  (-20)


e)
-23  +  3

f)
-14  +  -24

g)
-3  +  15

2.
Put into correct scientific notation.

a)
0.00021




b)
210,501,000

3.
Write in standard form.

a)
5.01  x  106




b)
7.0201  x  10 -5
4.
Simplify.  Use scientific notation (exponent rules) to solve and correct scientific notation to give 

      your final answer.
a)
(3  x  105)(4  x  103)



b)
  2.5  x  105  




   





  5  x  107
5.
Simplify.  Show all intermediate steps.

a)
- | -9  (  5 |


b)
( -1/3)2


c)
- 32
6.
Simplify.  Show all intermediate steps.  Remember mixed numbers and reducing.

a)
  5 ½  +  2 1/3   

b)
2 1/3  (  3

c)
4/5  (  1 1/5

     1/6  (  4/5
d)
3 ( 4  +  20  (  4  (  23  
e)
  7  +  -7  

f)
    1/9  (  9    




      

     21


              18  +  -18

7.
Show the correct setup, form and an algebraic equation to solve each of the 

following.

a)
What is 25% of 24?



b)
What percent of 15 is 3?

c)
The number 33 is 30% of what number?

8.
Compare using the symbols <, > or =. (Showing work is necessary)

a)
| - 5 |

- ( - 5)



b)
 -(- 3)

- | - 3 |

9.
Translate each statement.  Don’t simplify or solve.


a)
Twice x is 3 less than x.


b)
The quotient of x and 25 is the same as the difference of x and 2.


c)
25 subtracted from x yields the product of x and 10.

10.
Simplify by expanding and/or combining like terms.


a)
3(2x  +  4)  (  (x  (  4)


b)
(5x2  +  5x  (  9)  (  (3x  +  x2  (  10)


c)
(x  +  2)(x  (  2)(x  (  1)


d)
3x3y(5x2y  +  2xy3  (  xy)


e) 
5xy  +  6xy  (  xy

11.
Simplify.  Show all intermediate steps.  (btw: 7*49=343)

a)
(2) -3

b)
(-29,351)0


c)
     28x3y-5z  
   - 3


      12x5y7
Choose 1 of the following 3 problems to solve.
13. 
One angle of a triangle is 6 more than twice the smallest angle.  The third angle is 

            6 less than 2 times the smallest angle.  Find the three angles.

or

13.
The length of a rectangle is 8 more than the width.  If the area is 105 square 

inches, find the dimensions.

or
*13.
The hypotenuse of a right triangle is 10 inches.  Leg "a" is 4 less than twice leg b.  

Find the length of leg a.  (You may use the quadratic formula, but a hint is that one root is 

- 14/5, and 5 is prime.)
Choose 1 of the following 3 problems to solve using two equations and two unknowns.
14.
How many liters of a 40% solution and a 70% solution must be 

mixed to obtain 30 liters of a 55% solution?

or
14.
An 81-inch string is to be cut into two pieces.  One piece is to be 11

inches longer than the other.  Find the length of each piece?

or
14.
The sum of two numbers is 110.  The difference of the two numbers is 52.  Find 

the numbers.

Choose 1 of the following 3 problems to solve using one equation & one unknown.

*15.
The drain can empty a sink in 6 minutes.  The cold water faucet can fill 

the sink in 4 minutes.  How long would it take to fill the sink, if the drain is open 

while trying to fill the sink? 

or
*15. 
A boat travels 6 miles up a river in the same amount of time it takes to travel 22 

            miles down the same river.  If the current is 4 mph, find the speed of the boat in 

still water.

or
*15. 
One number is three times another number.  The sum of their reciprocals is 2/3.  

Find the two numbers.

16.
Simplify the following:
   x2  (  2x  (  15   







  x3  (  7x2  +  10x
17.
Divide.  Don’t forget to simplify.



  x2  (  4x  +  4    (          2x2  (  8     




  x2  +  5x  +  4
            x2  +  3x  (  4

*18.
Add or Subtract.  Don’t forget to simplify.

a)
5  +    3 




          y


b)
      1        (         x       




  2x  +  2          x2  (  1


c)
  x2  (  4x  (  5      +      x2  +  4x  (  3  




  x2  (  3x  +  2              x2  (  3x  +  2

*19.
Factor Completely
a)
9xy  (  3x  (  9y  +  3


b)
10a2b3  +  5ab2  (  15ab3
c)
4x2  +  6x  +  9




d)
6x2  (  5x  +  4

e)
9x2  (  42x  +  49



f)
9x2  (  64

g)
8x3  +  64




h)
27x3   (  y3

*20.
Solve the following rational expression.  Don’t forget about restrictions.



  1    (        x      =       -1     




  3          x  (  1        x  (  1

*21.
Simplify the following complex fraction.


       1    +    2  




       x          x2


----------------------



 1  (    1    (    6  




           x          x2
*22.
Solve each of the following rational expression equations.  Don’t forget about 
restrictions.  


a)
  m  +  1    =    2m  




       3               9


b)
  t2  +  56    =    -5  




      3t2               t

23.
Divide and check.

(x2  (  5x  +  12)  (  (x  +  2)

24.
For 

5x  (  2y  =  10

a)  Put the equation into slope-intercept form

b)  Give the y-intercept as an ordered pair here.  Justify your answer.

c)  What is the slope of this line?  Write it as m =    .   Justify your answer.

d)  Find the x-intercept and write it as an ordered pair here.

e)  Graph the line on the next page using 3 points.  Show work for the 3 

      points.  Don't forget to label and draw your line correctly.  Recall that 

      you may have already done some work on this!
f)  If the line that you graph and the line that is already shown form a 

    system, what is the solution for the system.  Give its ordered pair here 

    and label and box it on the graph.


















26.
Solve the following system:


5x  (  2y  =  10


Give the solution as an ordered pair.


 -x  +  y  =  1

27.
Solve for x.  Assume that the triangles are similar.

28.
Simplify completely.

a)
(-16


b)
( -8


c)
( 48x3y2
d)
5(2  +  10(2  (  3(18


e)
((5  (  2)((5  +  2)

y





x





180 ft.





120 ft.





x





x + 20





3
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